
Subject: OT: C++ Recursion
Posted by icedog90 on Wed, 08 Mar 2006 03:25:59 GMT
View Forum Message <> Reply to Message

Anyone who knows at least the basics of C++, can you help me try to understand this damn awful
question? My head hurts like hell by going over and over again trying to figure out why the answer
is number 3.  First, I was beginning to understand why it was 3, and now (after going over it so
many times) my head is so fried I don't even remember how it works.  I'm done trying to figure this
out, my head hurts a lot and it's just pissing me off.

Remember, the answer is 3 (letter C) but I want to know why.

(This is a review I brought home to get ready for a test)

Thanks.
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